2] £ e 5 E # 5 % # e ® #
AR TREMER IR AR IREMHER TR
SH6E | HH5E A | S6E | SAI5E R | S6E | SAI5E R | SM6E | SAI5E R | SF6E | HFI6E WE | HF6E | HF5E IR

B F O K 125 131 -6 125 126 -1 100.0 96.2 3.8 498 542 -44 287 272 15 57.6 50.2 7.4
54 (ITI—) 49 65 -16 50 62 -12 102.0 95.4 6.6 209 205 4 109 120 -11 52.2 58.5 -6.3

PR A 23 38 -15 24 36 -12 104.3 94.7 9.6 90 87 3 50 45 5 55.6 51.7 3.9

5 bHhX 8 4 4 8 4 4 100.0 100.0 19 27 -8 12 20 -8 63.2 74.1 -10.9

5 bHEK 1 5 -4 1 6 -5 100.0 120.0 -20.0 19 14 5 11 11 57.9 78.6 -20.7

SbEKX 17 18 -1 17 16 1 100.0 88.9 11.1 81 77 4 36 44 -8 44.4 57.1 -12.7
B % b 30 20 10 28 19 9 93.3 95.0 -17 122 185 -63 80 83 -3 65.6 44.9 20.7
b= TR ) 8 7 1 8 7 1 100.0 100.0 18 15 3 14 14 77.8 93.3 -15.5
E - 4 1 3 5 1 4 125.0 100.0 25.0 6 6 4 66.7 66.7
£ ® W 2 7 -5 3 6 -3 150.0 85.7 64.3 16 21 -5 16 9 100.0 42.9 57.1
F R 0™ 3 3 3 3 100.0 - 100.0 5 4 1 1 5 -4 20.0 125.0 | -105.0
woo®t W 2 -2 2 -2 - 100.0 | -100.0 12 20 -8 4 6 -2 33.3 30.0 3.3
5 2 W 3 3 2 2 66.7 - 66.7 4 9 -5 2 5 -3 50.0 55.6 -5.6
R W - - 5 7 -2 2 2 40.0 28.6 11.4
5 &1 1 3 -2 1 3 -2 100.0 100.0 17 10 14 5 82.4 50.0 32.4
b= I ) 2 3 -1 2 3 -1 100.0 100.0 13 5 5 2 38.5 40.0 -1.5
~ B W 1 1 1 1 100.0 100.0 15 11 4 1 2 -1 6.7 18.2 -115
2 E # 5 6 -1 5 6 -1 100.0 100.0 4 4 1 4 -3 25.0 100.0 -75.0
£ fF 0wW 1 1 1 1 100.0 - 100.0 9 1 8 3 1 2 333 100.0 -66.7
b= R 3 3 3 3 100.0 100.0 18 17 1 17 6 11 94.4 35.3 59.1
R AR AT 2 2 2 2 100.0 - 100.0 6 1 5 2 -2 200.0 | -200.0
HMEME S AT -4 4 -4 . 100.0 | -100.0 7 2 5 2 -2 100.0 | -100.0
& O ER Bk |y -4 4 -4 - 100.0 | -100.0 2 3 -1 2 2 100.0 100.0
NNy N i) -1 1 -1 - 100.0 | -100.0 1 7 -6 7 1 6 700.0 14.3 685.7
& JE AR # A - - 1 -1 -
& M AR 8 27 A7 1 1 1 1 100.0 - 100.0 2 2 1 1 50.0 50.0
P FH AR B o0 T - - 2 -2 2 -2 - 100.0 | -100.0
f FH AR 5 % HT 2 -2 2 -2 - 100.0 -100.0 1 1 1 1 100.0 - 100.0
EHEFEERN - - - -
AKEBBAKFIHET 1 -1 1 -1 - 100.0 -100.0 1 -1 -
A K BB 3% K ET 3 3 3 3 100.0 - 100.0 3 2 1 2 2 66.7 66.7
NS BB 2 o SR T 1 1 1 1 100.0 100.0 3 1 2 1 1 333 333
TH - BENE 6 6 6 6 100.0 - 100.0 - -




